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Answer 5
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Answer 8
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Answer N

Factorise fully 20x? -5

KZ/ODCFL S

1"
A
X

)
)<

v

™

K

N/

A

\
A
;N
B@
\
~

D ireeneovee OF Two SQUALES
& o e I —
(Zi)?' 1= &__Z = bl = (@ @) (&L+ b)
5 _
b 8
o —-b

Answer 12

Factorise fully 4(x—572+3(x-5)
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Answer 13

(b) By finding suitable values of @ and c, use part (a) to write 650065 as the sum of two
square numbers.

650065 = 65 x 10001
Ifa = §and ¢:="100

ac-1=800-1
a+c =108

Sum of 108" + 800
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650065~ 108 L 799
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Answer 15

Factorise completely (12x — y)? — (4x — 3y)?
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